Fﬂﬁm_g

RALES &
/J\U) XE% A T. =read the following sentences and .....
* Here te-form is used to join sentences. /
RAU&SEATEW BTWNES
XE 2D NR%Z %ZT\ = consider the contents of the whole passage and ..
* Here te-form is used to join sentences. /

2h [Fn bok

50 15 54 DFAIC A3 BH LW HDE1-2-3 455 —D BU RS L, = Choose the

best one which should enter from 50 to 54, from 1, 2, 3 and 4. &= /

The sentence is written in the plain-style.

JEXJJF = less than, below, under, the following /

Id <topic particle>/

i‘ﬁ%d) d7 /. =acolumn

Tdh b, =is (are, am, etc.)

* T, =<plain-style-nonpast-affirmative> of ‘{na-adjective / noun] Td D F 9~ which is more

formal than ‘[na-adjective / noun] T3 =is (are, am, etc) //

The following is a column from a magazine.

BT FEEF=HETFY WS D F

= the thing called ‘a railway fan’ + (& <topic

particle>
*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /

%E;EE?U\ %’-% T=#ENFEE, LT, =(X) like railways and .....

* 43 = 2 = <plain-style-nonpast-affirmative> of 1+ & T9 = like

* ‘[stem of na-adjective] ¢’ is used to join sentences or adjectives. /

éﬁ%i F’a@@'é Z & =the thing about (regarding, concerning) railways N2 No.62/
%Z <direct-object particle> /

ﬁbﬂi@ﬂ%tc LT W3 %7‘:“5 = the people who make ~ a hobby

* LT W3 = <plain-style-nonpast-affirmative> of LC \L\& 9 = be doing now
*LEI g3=do

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
— the people who love railways and make the things about railways their hobbies /
@D <possession particle>/

Z &2, = <plain-style-nonpast-affirmative> of Z & T9,
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i =l = S D Z& TY, =~ means ...
e~ WD D D & TY, =~ means......
T We often use this structure to explain the word. //

‘Railways fans’ means ‘the people who love railways and make the things about railways their
hobbies’.

T2ES

#K&E 7 7 > = railways fans /
|& <topic particle> /
%LC = simply, merely, only, solely /
"5 = tetsu’/
& <quotation particle> /
%bh?‘: D H 35, =<plain-style-nonpast-affirmative> of %b?’w‘: ND$H LEXRI =(X) have
many things done (by someone) such as having something said (by someone)
* %bht = was said (by someone) = <plain-style-past-affirmative> of %bhi@“ (be said (by
someone)) which is the passive-verb of %L\i@“ gl (say)
* [ta-form] D [ta-form] D U &9 =do ~, do ~ and do other things as well, do many things

such as doing ~ and doing ~ /

A railway fan is just called ‘tetsu’ once in a while. 8.
They simply call a railway fan ‘tetsu’ once in a while. Q.

IZF A

HAT [, =inJapan + |& <topic particle> /
Zh ¥T=sofar/
(& <topic particle> /
rfﬁh é:b\ztat Speaking of ‘tetsu’, Talking of ‘tetsu’ (N2 P54 N0.92) /

AW

BHrE & /ubn'f LV/z = It has been thought that (X) is a man
EhEw Lhﬁu
* BIE7Z = <plain-style-nonpast-affirmative> of B T9 = (X) is a man

* é: <quotation particle>
&b

,ubh'f L\fc = was being thought & = <plain-style-past-affirmative> of BT WE T (be

belng thought now)

,ubhiﬁ“ be thought = passive-verb of ML\§¢ g1 (think)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
H =but, /
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'\é‘/ut.\/u
I = recent years /

\& <topic particle> /

éﬁéd) 7 7~ =female fans /

A <subject particle> / o

%EL’C L% = <plain-style-nonpast-affirmative> of %jgjb’c LWE 9 = be increasing rapidly
now

* %EéL &9 g3 = increase rapidly

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

5 U L\ = <plain-style-nonpast-affirmative> of 5 U\ T9 =1 hear that ... and | think so too, It

seems that ....
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 5 U \L\TJ = hear (heard)

that ~ and | think so too, It seems that ~ /

In Japan, talking of ‘tetsu’, it has been thought that it should be a man so far, but it seems that
female fans have rapidly increased in recent years.

& 23T, =by the way, /

mn T2ES

5 #8775 =they, railway fans /
|& <topic particle> /

1 such ....

2 in what way

3 even if you do it
4 which ....

#5 = hobby /

% <direct-object particle> /

%b/u’(“ L% = <plain-style-nonpast-affirmative> of ;‘%‘2 L AT WET = be enjoying now

* :'%'; L& X9 g1 =enjoy, take pleasure, amuse oneself, have a good time, anticipate, look

forward to /
[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] M 725 S H" is used to ask oneself a

question and @ implies ‘..., | wonder’
* Actually 723 5 is the plain-style of TU & 5 which means ‘1 Probably ....... 2 e , right? //

By the way, how do they (railway fans) enjoy their hobbies, | wonder?
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veze
—& C = with a single word /
BT 7Y & EoTH =evenif (X) say, ‘railways fans’/

U & BV S

Z O #ERD AR = the contents of that hobby /
feLwilt&> cLUwlc&k>
%1% KR 12 = <plain-style-nonpast-affirmative> of %’7? %K T9 = (X) is various kinds, a great

variety of //

Even if we say ‘a railway fan’ with a single word, the contents of its hobby have various kinds.

ZUT. =and,/
%%CC %é DH il?%f;i ré;ij I& = ‘tetsu (a railway fan)’ who likes boarding trains
* %é = <plain-style-nonpast-affirmative> of % N £9 g1 =board, ride, mount
* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /
"% 03, = nori tetsu (boarding railways fans)’ /
& WS K5 [ = (the thing) like ... / such as .... /
Z 21 =respectively, each /

BN S

Z® A = that contents

e
% ?5\ U 7c = corresponded = <plain-style-past-affirmative> of %Eﬁ L &9 g3 (interact, act
reC|procaIIy correspond; support) /

ﬂ?U‘% = nickname, popular name, given name /

— a nickname which corresponds to its contents respectively /

¥ <subject particle> /

% 5. = <plain-style-nonpast-affirmative> of &6 D £3 g1 =there is ~, have ~ //

And there are nicknames (popular names) which correspond to their contents respectively such
as ‘nori testu (boarding railway fan)’ who likes boarding trains.

1 N2 P3 No.5 A: instead of ... B: on behalf of ....

2 N2 P6 No.13 A: (be done) by ... B: because of .... C: by means of .... D: according to .... E:
some ..., a certain ....

3 N2 P12 No.19 in addition to ....

4 other than ...

4/15



%—E—é:’a“: 1;%%0) AN %‘% AN riﬁ%béﬁ% . = ‘tori tetsu (taking photos railway fan)’ who likes to take
photos

* T;E)'i% = <plain-style-nonpast-affirmative> of T;Eﬁ N £9J g1 =take

* Here ° no is used to make a noun phrase (to change a verb to a noun). /

Leb&> SiFW Zht

Bl %Efé?b\ H 3 ﬂa’@? < r%%éﬁj . = ‘kaki tetsu (drawing railway fan)’ who likes to

draw the scenery which have carriages and railways
* 35%) <plain-style-nonpast-affirmative> of 375 N £9 g1 =thereis ~, have ~

* TEH < = <p|a|n style nonpast -affirmative> of Tmi‘—f £9 g1 =draw/

T2&ES Sz HlFWwTD

SRED RBRIH ﬁ?‘é 7% TIEAIER | = ‘mokei tetsu (model railway fan)’ who likes a model of a
railway

RE =etc

2o = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T9, ’=is (are, am, etc) //

Other than ‘nori tetsu’, there are ‘tori tetsu (taking photos railway fan)’ who likes to take photos,
‘kaki tetsu (drawing railway fan)’ who likes to draw the scenery which have carriages and
railways, ‘mokei tetsu (model railway fan)’ who likes a model of a railway, etc.

H5 = certain /

en C&tEWn

408D F%DE‘?&J dD M = the woman who is ‘nori tetsu’ and is in her forties /
(& <top|c partlcle>/

ToES

TRE D ﬁLj] = charms (fascinations) of railways
% <direct-object particle> /

122 =2D&KDIC =inthis way

222 =%D&LDIC =inthat way
E545

3 [A#KRIC = in the same way, just like

WG &>

4 LI ED & SIC = as | mentioned above

fJ\L n Tc
s2 5o = <plain-style-nonpast-affirmative> of & D £ 9 g1 = talk, converse, communicate, tell,

relate, speak, say, recite //

A certain ‘nori tetsu’ woman who is in her forties tell about charms of railways in this way.

z& KSe17AN
,ud) A D JES = the scenery which is out of the window

%Z <direct-object particle> /
Tt ¢

Bksb T L3 = <plain-style-nonpast-affirmative> of Bk T L\ E 9 = be looking at, be viewing
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*Eﬁéf)iﬁh g2 = look at..., view
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
& =....and naturally
D iuzﬁj\ = a feeling of a travel /
7bj <direct-object particle for the potential-verb>/
%Ebi% = <plain-style-nonpast-affirmative> of %Ebi_i"é‘ (be able to taste / be able to
appreciate which is the potential-verb of %Eb W& 9 g1 (taste, appreciate) /
[plain-style] L = ... what’s more ...., not only .... but also ....., because ..... (It is used to list many
reasons.) /
éifié: & EoT = iif)ic‘: ?E'Bo LT, =(X)is different from cars and ..
1_9 <plain-style-nonpast-affirmative> of L\iﬁ“ g1 = be different, be wrong
* Here [te-form] is used to join sentences. /
F:EOT W3 72+ T = by (means of) just being S|tt|ng there /
* VDT L\% = <plain-style-nonpast-affirmative> of FOT W& 9 = be sitting now
* r NETI g1 =sit
Eﬁéi’ﬁl = a destination
IC <arraival particle>
%Hé @ =to be able to arrive, to be able to reach, being able to arrive, being able to reach
*%H% = <plain-style-nonpast-affirmative> of %H F 9 (be able to arrive, be able to reach)
which is the potential-verb of %% X9 g1 (arrive, reach)

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /
L)) » = <plain-style-nonpast-affirmative> of L\L\ TI™ = (X) is good //

‘When | look at the outside scenery from the window, | can enjoy the feeling of a travel, what's
more it (a railway) is different from a car and it is good for me to be able to arrive at my

destination by just sitting.” &

b T WTD W EAEW

NgEflgk, T3 30D B = the man who is ‘mokei tetsu’ and is in his thirties
* Td 5 = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D £ 9’ which is more
formal than ‘[na-adjective / noun] T9 =is (are, am, etc) /
|& <topic particle> /

SIZAN #H#D &<

BERID %A IC DWW = about charms of models N2 No.10

rb%)fﬁ?@ %i’é‘: BT W3 £1F T =by just being Iookmg at the shape of a carriage
* E’C L\% = <plain-style-nonpast-affirmative> of E’C L\E 9 = be looking now, be watching
noayv, be seeing now

* BE 9 sg2 = see, look, watch
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* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

> > & D, = ecstatically, rapturously, abstractedly, absentmindedly, absorbedly, in a trance

* 52 &b ULFXT g3 =fascinate, captivate, attract /

%% = genuine article, genuine item, "the real thing" /

Lat <topic particle> /

EZJ& L\ = cannot buy, be not able to buy = <plain-style- nonpast negative> of az_i"é‘ (can
buy a real one, be able to buy) which is the potential-verb of EL\?@“ g1 (buy) /

H E . = but,

T%E:E 5 =if (X) is a model, if you are talking about a model,

EZ.%) <plain-style- nonpast afflrmatlve> of azi@“ (can buy a real one, be able to buy)

which is the potential-verb of ﬁbi? gl (buy) /

[plain-style] L = ... what’s more ...., not only .... but also ....., because ..... (It is used to list many
reasons.) /

& <quotation particle> /

E26HW0 ToHLY

itAA9 %, = <plain-style-nonpast-affirmative> of £tA8 L £ 9 g3 = explain /

The man who is ‘mokei tetsu’ and is in his thirties explains about charms of models as follows. ‘I
will be enchanted (enraptured) by just looking at the shape of a carriage. | cannot buy a real
one, but | can buy a model, (and what’s more ....)’

X/c. =and, again/

STWEA

i = recently, nowadays /

EpS52S L&t

SE LT W3S LT 7> =the female fans who are increasing rapidly
El ke EwSZS

*

= \im LT W3 = <p|a|n style-nonpast-affirmative> of 21& L T L\EX 9 = be increasing now
* ,%*\iéé LY g3 = increase rapidly /
IC <existence particle> /
|& <topic particle> /
<2

I~ #1 = ‘mammy railway fan’/
H =also/
BH Bk
%\\, = <plain-style-nonpast-affirmative> of %L\ T3 = (X) is many.

And there are many ‘mama tstsu (mummy railway fan)’ among female fans who have rapidly
increased recently.

A

Y%

BHZ %71_75\5 ?1 t = the child who want to see tralns
H
* Bfch¥% = <plain-style-nonpast-affirmative> of E?‘:?’J\ N Z£9 g1 =wantto see
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* [masu-form] 7cH¥D ¥ = show signs of wanting ~ /

%Z <direct-object particle> /

i?Ei’LT = i?E*L%o % LT, =take (a person) and ....

* ‘?En% = <plain-style-nonpast-affirmative> of %niﬁ g2 = take (a person)

* Here [te form] is used to join sentences./

:é,v%%‘: % c TT < 5%, =while going to see tralns N2 No 20

* Etc_ 1‘_r < = <p|a|n-style-nonpast-afﬂrmatlve> of E c 173 9 =go to see (look, watch)

* [masu form] I ﬁé‘ ¥9 =gotodo ~/

ﬁﬁj\ = oneself /

H =also/

%5@%!2_7 7~ = arailway fan /

i/

72> T U X > =to one’s regret, (X) became ~ = <plain-style-past-affirmative> of 7> T UL &
LWE 9 =to one’s regret, (X) become ~

* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D £J = become [adjective]

* [noun] IC 7& D ¥ 9 =become [noun]

* [te-form] UE WX T =1 to one’s regret, he does ~ 2 finish doing ~ completely /

~& WS xfcé = the people who ~

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
2o = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T9, ’=is (are, am, etc) //

They (mama tstu) are the people who became railway fans while they take their children who
want to see trains, and go to see trains together. &

(153

1 railways fan

2 female fans

3 they (she-plural)
4 adults

D <possession particle> /

t#%%(: characteristic, feature /

|& <topic particle> /

%\O) "$%) = other ‘tetsu’

</ ,

EE D, = éfd >, é 5, #ULT, (X) |s different and ..

72&%) <plain-style-nonpast-affirmative> of 5 73 N £9 g1 = be different, differ
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* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /
R—A T (& %< =,nota platform/
;'Q%b\ RZ% &3l H3 ﬁl\*—’ LA K~ Z > 72 & =the park or the restaurant which is
Iocated at the place where the train is visible
* Ez_é <plain-style-nonpast-affirmative> of Ez.i@' g2 = can be seen, be in sight, be visible
* % % = <plain-style-nonpast-affirmative> of 3 D &9 g1 = there is ~, have ~ /
: t{ﬁt L—jl’% IC = with a child together /
KDD < D =slowly /

c..tt% <plain-style-nonpast- afflrmatlve> of 1@ c_’e“i? (can spend (time), be able to spend
(time)) which is the potential-verb of 1@ & U &3 g1 (spend (time)) /
i;—bFﬁ place /
C <particle which shows the place where the action takes place.>/
— at (|n) the place where they (mothers) can spend their times with their children at ease /
:g%’a': B% &WS ,.5“ = the point which (X) see trains
* E% = <plain-style-nonpast-affirmative> of %i@“ sg2 = see, watch, look
*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
Tdh S, = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D £ 9 which is more

formal than ‘[na-adjective / noun] T9 =is (are, am, etc) /

The characteristic of them (mama tetsu) is that they are different from other ‘tetsu’, and they see
trains at the place where they can spend their times with their children at ease, such as the park
and the restaurant where trains are visible, not a platform.

ToES

#5387 7 > = railways fans /

IC <existence particle> /

|& <topic particle> /

W3 W3 7 ¥ 7 =various types /

Y <subject particle> /

HD, =H>T. =H5, £LT. =thereis ~and...., have ~ and ......

* 35 % = <plain-style-nonpast-affirmative> of &% D £9 g1 = there is ~, have ~

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal /
Ay
22 ch7>L 73 = how to enjoy, the way of enjoying
s’%‘e L& X9 g1 =take pleasure, enjoy, amuse oneself, have a good time, anticipate, look

forward to
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e
* [masu-form] 73 = how to do ~, the way doing ~ /

£ =also/

1 It is various.

2 It was said that it was various.
3 It is the point which is various.
4 |t is thought that it is various.

P18

B2 10

X
o

Y BD B I W3

)

x2 & LT = as the answer for the question below

(1)

523

(E)
LADA I D W

TR LE = deforestation /

LADA b

HFMHEEINT ”‘73 K Bofeb., <>/ b 9% Z & = (It means) that forests become

lesser by being destroyed, they disappear or other things happen as well &

* %éh’( =IN35, £LT. =be destroyed and

* i%éh% <p|a|n style-nonpast-affirmative> of i%éhi@' (be destroyed) which is the
passive-verb of i% L X9 g1 (break, break down, smash into pieces)

* 7& o fc = became = <plain-style-past-affirmative> of 72D £9J g1 (become)

* [stem of i-adjective] < %D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D ¥9 = become [noun]

* [ta-form] D [ta-form] D U ¥ 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~

* 7% < 7% o J= = disappeared = <plain-style-past-affirmative> of % < & D £ 9 g1 (disappear)
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).

N A X T =in the media/

EO =

FHD & 3IC = almost everyday

*[noun] @ &£ SIC = like, such as, as an example of (adverbial usage) /
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b\{:né‘fiiﬁlufib\ .
IRI% & = an environmental problem /

Y <subject particle> /

E&Y n J@:b“"_% N T L3 = <plain-style-nonpast-affirmative> of HKY D J%:b”':‘; NT WX (be being
picked up, be been took up, be being adopted)

* an D j:b“‘B N F 9 =the passive-verb (be picked up) or the potential-verb (can pock up) of
an D J&:b“‘iﬁ' g2 (take up, pick up, disqualify, confiscate, deprive) /

H. =but,

FrE>S

ARHIT =really, truly /

H%%%% 1 = an environmental problem /
& <quotation particle> /
%9 C LWL = <plain-style-nonpast-affirmative> of %9 T H LWWTTI =may say, it is Ok to say
* %L\iﬁ' g1 =say
* [te-form] B L\LN TF =may do ~, itis OK to so ~ /

D 1255 H. =[plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] @ =5 S H\ is used
to ask oneself a question and @ implies ..., | wonder’ * Actually /=3 S is the plain-style of TU

& © which means ‘1 Probably ....... 2 e , right? //

The mass media (mass communication) is taking up an environmental problem daily, but is it
really OK for us to say ‘an environmental problem’, | wonder?

EEp SBALA H

HIKERE(L = global warming

LACUB ..U B =either....or..... (N2 P87 No.146 B)

7%'%%%%%&% = deforestation /

lcL5/

I*}bﬁ—ibéf%@ %(%é = a shortage (a lack, an insufficiency) of energy resources /

lcL5/

Zns =these

|& <topic particle> /

End =anyof ~/

ﬁ% & 27T =by a human being N2 No.13/

ﬁ_c_ Shifc =was caused <plain-style-past-affirmative> of tc_ SN X (be caused) which is
the passive-verb of E_c_ L ¥79 g1 (cause, wake (a person) up)

JF':-%EJV;LL = problem, question; issue /

Tdh S, = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D £ 9 which is more

formal than ‘[na-adjective / noun] T3 =is (are, am, etc) //

11/15



Either global warming or deforestation or a shortage of energy recourses, any of these is the
problem which is caused by the human race.

LML, =But,/

ZDLD 732%% = a problem like this /

%Z <direct-object particle>

DAZELSHARW

IRIE [B]RE = an environmental problem /

&/

D%/Si‘ Z & T = by means of calling

* If‘?&‘ = <plain-style-nonpast-affirmative> of ﬂi()“i@“ gl =call
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).
*A%Z B& D%U“i@' =callAasB/

U)\t = person /

|& <topic particle> /

T WL E

EED S 51T = unconsciously (N2 P12 No.20) /

ZD Fn%%ﬁ% = from that problem /

%%’: %5 L T L3 = <plain-style-nonpast-affirmative> of é’i’ %5 LT WZET =be turing
one’s eyes away

*é ‘s ig'_ﬂ_'_% L &9 g1 =turn one’s eyes away

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

D Tl&E 1&LVH = <plain-style-nonpast-affirmative> of @ Tl& & D XEEAH. =...., don’t you

think so? ; ...., | want to confirm with you. //

But, don’t you think that people turn their eyes away from that problem unconsciously by calling
the problem like this as ‘an environmental problem’?

© U % =rather/
[CAIFABATEN
" \fEIfEI&&) = a problem of the human race /
&
LS
.3 & & T = by means of calling
ES ES
* .32 = <plain-style-nonpast-affirmative> of IFU*& 9" g1 = call
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).
ES
*A%Z BE EUE I =callAasB/
HAREW

L3R A
B2 ® [ERE & LT = as one’s own problem /

& 5 Z % = <plain-style-nonpast-affirmative> of & 5 2 &3 g1 = catch, capture, get, seize /
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~Z&EICED =~T&,ICR>2T=~2¢& IC7%%, £ULT. =(X) becomes the fact that ~

and .....
* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D X9 = become [noun]

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

;I%IL%\U) ﬁi%%i%a = future environment /

%Z <direct-object particle> /

”b’\“i% Z & H TZE % = <plain-style-nonpast-affirmative> of 3%2_5 ZE M TEXT =can
change be able to change

* 7"2_%) <plain-style-nonpast-affirmative> of xz_i"é” g2 = change

* [dictionary-form] Z & Y TE X9 sg2 = can do ~, be able to do ~ /

D TRHIBWEEDID. =D TR IBWH+T12ED5D =

D Tl &L\ A = <plain-style-nonpast-affirmative> of D Tld D XTEA D =...., don’t you
think so? ; ...., | want to confirm with you. //

235 H. =[plain-style (‘da’in [na-adjective / noun] da’ becomes ‘na’)] 725 S H is used to ask
oneself a question. * Actually 7= 5 is the plain-style of TU & > which means ‘1
Probably ....... 2 e , right? //

If anything, by calling it (an environmental problem) as ‘a problem of the human race’, it
becomes the fact that you consider it as your own problem and we can change the future
environment, don’t you think so? (and | ask myself as well)

[ 155

OoLw»

%% = author /

|& <topic particle> /
28 =why/
b\nhﬁéé5bh§ll\ .
IRI% [EIRE = an environmental problem /
%Z <direct-object particle> /
[CAIFABATEN
T \fEIf&RE; = a problem of the human race /
&/
LS ES
AT 1ED DY KUY = <plain-style-nonpast-affirmative> of FEA 72 (5 HY LWWT T = had better
call
ES ES
* A TZ = called = <plain-style-past-affirmative> of FEUNE 9™ g1 (call)
* [ta-form] (5 HY LT Y = had better call -
& <quotation particle> /

MAD
# Z T L% = <plain-style-nonpast-affirmative> of %Z'C LWE 9 = be considering now
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MNhH

* Z X £9 g2 = consider, think over /
H\ <question particle> //

According the author (the author is thinking that), why had we better call an environmental
problem as a problem of the human race?

;Jl\éfgi

ERIE = environment /

|[& <topic particle> /

[y

AfE = human being /

IC = (be done) by ~ /

L A = only, nothing else except for /

* LA + negative = only [affirmative] /

xz_bh@ L\ = cannot change, be not changed (by ~) = <plain-style-nonpast-negative> of
Tz_bniﬁ' which is the potential-verb (can change, be able to change) or the passive-verb
(be changed (by ~)) of gii@“ g2 (change) /

M5 =because ~ //

Because environment is changed by only human beings.
Because only human beings can change environment.

& 75\/1;“:?: &325:
R WIRE = good environment /

% <direct-object particle> /

Z}Z?\%é: LT W3 D =the one which needs ~ ]

* 3\2\% & LT W3 = <plain-style-nonpast-affirmative> of ?ZO\%& LT W& T =be needing now
* [te-form] W& T =1 be doing now 2 <situation, state> 3 <habitual repeated action>

*A%Z Z}ZU\% &E(or i) ULXF =need A, make A necessary /

|& <topic particle> /

[ChIFh

AJE = human being /

2 = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T3’ = is (are, am, etc) /

M5 = because ~ //
Because the one who needs a good environment is a human being.

[CAhTh

AJE = human being /
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Y <subject particle> /
TEICh

&1F = responsibility /

%Z <direct-object particle> /

?%o T = ?%F’Do % L. =hold (possess, carry) and .....
* %E %9 g1 = hold, possess, carry /

Nab MAD

E 2% NZE = <plain-style-nonpast-affirmative> of Z 2% XE T9 = should consider N2
No. XXX

MAD WA
* & Z % = <plain-style-nonpast-affirmative> of & X £ 9 g2 = consider, think over /
HAREW
fEI%2 = problem, question, issue /

2 = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T3’ = is (are, am, etc) /
M5 =because ~ //

Because it is the problem which a human being should take responsibility and think over.

4

IChFh 1AVl

ANBEIDESE = life of a human being /
|C <recipient particle> /

fe 2w ZWE LD

%K71e ®E& = great (serious) influence /

%Z <direct-object particle> /

Bl Hic

5 Z T W3 = <plain-style-nonpast-affirmative> of 52T LWE 9 = br giving now
Hic

*5 2 %9 g2 =give
AWE &S Bl

*®E% 52 9 =influence, affect, impact

* [te-form] W& 9" =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
Fn%%; = problem, question, issue /

Z = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T3’ =is (are, am, etc) /

M5 =because ~ //

Because it is the problem which influences the life of a human being drastically.
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